Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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With neat sketch, explain the'en Jjineering representatlon of. the hydrologlcal cycle. (10 Marks)
Theissen polygon constructed “for a network of the rain gauges in river basin yielded theisson
weights of 0.10, 0.16, QQ:QL , 0.11, 0.09, 0.08,/0.07, 0.11, 0.06, 0.10. If the rainfall
recorded for these gau  during a cyclomc storm are-132, 114, 162, 138, 207, 156, 135,

158, 168 and 150 mim’ respectlvely Determined the average depth rainfall by theisson mean

and arithmetic u;iean ifnethods, also determme the value of surface runoff at the basin outlet
If 35% of the ra,mfall is lost as lnﬁltratubn 'F’ake the area of the basin as 5000 km” and

express the gnsvyer in million cubic meter. o (10 Marks)

(10 Marks)
(10 Marks)

(06 Marks)
(04 Marks)
(10 Marks)

A %ﬁ@ OR e
asey apora’aon" Explaui Actor affecting. (10 Marks)
Write #short notes on: (1) 1@@;{' v (1) PET (10 Marks)

b Derlve the UHG owﬁthe catchment/ d@@OO km? if the following discharge was observed in

stream as a 6r. rp,mfall storm. Thé base flow can be assumed to have increase linearly.
Time 0] 3 [ | 9 |12 ]15]18|21 24|27
6 hr d1scharge (m’/s) | 5] 110¢ 265 | 230 | 165 | 30 | 95| 70 | 55 50
Base flow (m’/s) 54 %ﬂw 1520 |25 (30[35]/40]45]|50

%m ) (10 Marks)
,,,,,,, # OR
6 a. Explain the ramgaljﬁglnoff relationships using regression analysis. (10 Marks)
b. Derive the S- -curve ‘fer the 4 hr UHG given below:
Time (Hr) . 0| 4|8 |12]16[20]24 28
Ordlnates in 4 hr UHG (m*s)[0]10]30[25]18[10] 5 | O
(10 Marks)
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Module-4 & o,
A water course has a culturable command area of 1200 hectares. The intensity of irrigation
for crop A is 40% and for B is 35% and both th@cro’i)s are rabi crops. Crop A has a kore
depth of 10 cm and kore period of 10 days anggc%:op B has kore depth of 16 cm and kore

period of 15 days. Calculate the discharge o‘f%atg‘rﬂcourse. o (10 Marks)
What are Duty, Delta and Base period? Explain factors affecting dutyﬁfof%afers. (10 Marks)

g #

ggi?éSOOO hectares in Kharif crop and 4000 hectares in

A channel is to be design for irrigaﬁ

LLLLL

rabi crop. The water requirement r Kharif and rabi are 60 cmh%d 25 cm respectively. The

kore period of Kharif is 3 weeks.and for rabi is 4 weeks. ‘Determine the discharge of the

channel for which it is to be é{gs;g”iled. ¢ (10 Marks)
lift irrigation? Explain theBandhara irrigation. (10 Marks)
i m%}“

& )
Define canal. Expla‘““ éifferent types of canal %ase% on alignment. (10 Marks)

Find the section‘and maximum discharge of’ g;;jannel with the following data:

Bed slope = 1.in:5000 B
“factor = 0.95 "
o= 1:1 -y

CMRIT LIBRARY (10 Marks)
BANGALORE - 560 037

0 L
y s,
Define reservoir. With a neat sketch, explain zones gﬁf orage in a reseryé}?i;. ) (10 Marks)
Design an irrigation channelwith the following dag%‘ o~
(i)  Full supply discharge ; 6 cumex m b \ '

(i1) Rugosity coefficient, N = 0.0225 foy, *°

(i) CVR(m)=1 «# ¢
(iv) Bed slope =1in.5000 -® {9
Assume other x;z&gé;asﬁﬁable data for the gés&n e (10 Marks)
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